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55.

56.

57.

58.

59.

60.

(10++25)(12-V49) BT TS .......... =
a) 43

b) 33
c) 5V3
d) 23

1 YA T 3TE, SIHed & w9 H

foTRaT STRATT |
a) 0.005

b) 0.05

c) 0.2

d) 0.02

IR fISTel fIet BT 10% Hre forar <rar 8, a9
A1 45 U BT YA BRAT ITD] & | B (o
fope=m o ?

a) T50

b) %45
c) 55
d)

57

19 55 dp AT UTeh G131 BT I STl
DIFTY |

a) 30
b) 28
c) 285
d) 32

S HEATRIT BT AU 5:6 B AR DT YeL.3il.
TH, (T FHIUaR) 480 ©, Ol SIbT HE<H

TGS (T A).T%.) T BT 2
a) 67
b) 16
c) 56
d) 66

A =it 7 ST 77 7 | gl e g
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a) 132

b) 130

c) 77

d) 78

55. The square root of (10+V25)(12-V49)

56.

57.

58.

59.

60.
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If 10% of electricity bill is deducted, ¥ 45 is
still to be paid. How much was the bill?

a) 350

b) 45
c) 55
d)

Find average of natural numbers from 1 to
55.

a) 30

b) 28
c) 28.5
d) 32

The ratio of two numbers is 5:6 and their
L.C.M.is 480, thentheirH.C.Fis?

The average of three numbers is 77. The
first number is twice the second and the
second number is twice the third. Find the
firstnumber.

a) 132

b) 130
c) 77
d) 78
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Q.62

Q.63

Q.64

Q.65
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Q.61

Q.62

Q.63

ftp stands for

a) File transfer protocol
b) File transport protocol
c) File testing protocol
d) File transfer procedure

GI number stands for
a) Genlnfo Identifiers
b) Gene Identifies

¢) Genomic Identifier
d) Gross Index

Some RefSeq identifiers are prefixed
with NC. What is the meaning of NC?
a) Complete genomic molecules

b) Complete gene module
c) Comprehensive genomic molecules

d) Next Chromosome

Q.64 Horizontal Gene transfer is more

Q.65

prevalent in

a) Virus

b) Bacteria

c) Unicellular Eukaryotes

d) Multicellular Eukaryotes

Paralogs are genes that

a) Present in same genome and have
arisen due to gene duplication

b) Present in different genome and
have arisen due to gene duplication

c) Present in different Organism and
have arisen due to gene duplication

d) Present in same genome and have
not arisen due to gene duplication
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Q.67

Q.68

Q.69

Q.70

* T @@ &

a) HEAT S 3FE $s 38241 & fow
FRiTcHA®s &0 ¥ [AfFaT wa ¢

b) HEAT ST 3FE FACHD T F
gRafda wa &

¢) 3T ST 3FE F5 32247 & fow
FRiTcHA® &0 ¥ [AfFaT wa ¢

d) TR SN 3FER F5 33T & v Faar
WacAS ¥ ¥ fafaaqg wa g

NP Hefld &dr g

a) IR FgIG FAT

b) IR-FrERe sgIa THT
¢) IR TguE FHHOT
d) IR SgUe @en

AT HeFdd TATSAHE &l 3TINRT Fd
@%ﬁ%@%mﬁmw
I SSAT AT BT &1 3T 37 TR
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a) UHUHT & el ATAGCT HL

b) T Hed AT

c) BTFIT-TH\FHTQ#E?

d) IS el
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Q.66 Which one of the followingsentences

Q.67

Q.68

Q.69

Q.70

is correct for Gene Redundancy?

a) The related genes often remain
functionally interchangeable

for many purposes

The related genes often remain
functionally changed

c) The un-related genes often remain
functionally interchangeable

for manypurposes

The related genes often remain
only structurally interchangeable
for many purposes

b)

d)

Needleman-Wunsch is a
aligment algorithm

a) Global

b) Local

c) Multiple

d) Singular

Shannon entropy computes ......
a) Information Content

b) Uncertainty

c) Frequency

d) Chemical Potential

NP refers to

a) Non Polynomial Time

b) Nondeterministic Polynomial Time
c) Non Polynomial Equation

d) Non Polynomial Series

Weight matrix computation using
Multiple Sequence Alignment often
invovles addition of pseudocount. You
perform this operation to ..........

a) normalize columns of MSA

b) create effecting values

c) avoid infinity values

d) none



Q.71

Q.72

Q.73

Q.74

Q.75

Q.76

T gl
a) T AlGE F IR I FSH BIC W
b) ar sy & €I FEIH Ber TxAT

¢) SINT & Al & ¥ Bl T
d) o Ay & & TEIw o« T AT

d) 3ifaegaea
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a) WRTRGTA®

b) TU-AR

c) BIGIE]

d) Y@+

auaAdr . s v Esr g

a) THITel ~gfFerer TAS difer#

b) W ~g[Fordicrss uifaaribey
c) THITel FgfForaergs difeld

d) W gfFereh TS difermRibaH

WS H Teh 3fshH H hdo
IUPAC auf 3R ReFa €U & @y & (F18
& AN |
a) QT 3eJshd
b) WIEET
c) WIECHY

a

d) suHdTA

UET H UH HH "@"F Y giar

a) Wil 3eJshH
b) WIECT
c) WIECHY

N

d) SUALCS
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Q.71

Q.72

Q.73

Q.74

Q.75

Q.76

Bellman - ford algorithm computes
shortest paths going through all

nodes
shortest paths between two nodes

all shortest paths from the node of
interest
d) Longest path between two nodes

Heuristic algorithms provide.......
solution of the problems

a) Precise

b) Approximate

c) Optimal

d) Non-reliable

The relationship between the

running time and input problem size of
NP-complete algorithm is

a) Logarithmic

b) Step-wise

c) Exponential

d) Linear

SNP stands for

a) Single Nucleic acid Polymer

b) Simple Nucleotide Polymorphism
c) Single Nucleotide Polymer

d) Simple Nucleic acid Polymorphism

A sequence in format

may contain only [UPAC characters and
spaces (no numbers!).

a) Plain sequence

b) FASTA

c) FASTQ

d) EMBL

A sequence in format

starts with "@"

a) Plain sequence
b) FASTA
¢) FASTQ
d) EMBL



Q.77

Q.78

Q.79

Q.80

Q.81

Q.82

ASCII &T 318 e

a) oo Al & fov TR AeS #is
b) e AfddT & fov 3ARE A @i
) oo RAfasd & fov R dafaes @
d) I fawg & fov 3mRE dafas i

FASTA 37eJsh WIS H 37ehA

e @ Y& gl =AMfRT|

a) >
b @
c) #
d $

e H A% NP $r Fal AT &
a) 94
b) WIS
c) fewe

d) fog

PDB-redo fr@ehT Seeg %’?
a) FYIES WA 3HeTshd
b) FFIS WNéT Qe
) TS WA HITAT
d) g G TXIeT

FATcHS fAIRATT STem3it & YR & S
. wamuRa g

a) iﬁﬁ'

b) drel

c) A=

d) FoRAT Foil

¥ Y PAcAS [HAIRAr Fr EURom ©
amenfka §
a) 1TATH
b) 2TSTH
c) 3TATH
d) 4TaATH
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Q.77

Q.78

Q.79

Q.80

Q.81

Q.82

ASCII stands for

a) Asian Standard Code for
Information Interchange

b) American Standard Code for
Information Interchange

c¢) Asian Scientific Code for
Information Interchange

d) American Scientific Code for
Information Interchange

In a FASTA sequence file the sequence
must begin with a sign.

a) >

b) @

c) #

d $

Each record in a database is called
a) Entry

b) File

c) Ticket

d) Point

PDB-redo is a database of

a) Curated Protein Sequences

b) Curated Protein Segments

c) Curated Protein Structures

d) Comprehensive Protein Structure

Functional Dependencies are the
types of constraints that are based
on

a) Keys

b) Locks

c) Redundancies

d) Superset Keys

__ forms are based on the
concept of functional dependency
a) 1 NF

b) 2 NF

c) 3 NF

d) 4 NF



Q.83

Q.84

Q.85

Q.86

Q.87

DBMS # Teh HEY ... H g afg s
THIT Foll AT FARJATAT 31T THT Foll
fFdvar W R &1

a) 1 TdU%h

b) 2TATH

c) 3 UAUH

d) 4 TATH

AT FEUIRH seed 3o & fow
PleT TT AT FT GATT AT ST &
a) 1 UAU%h
b) 2 UAUH
c) 3 UdU%h
d) 4 TATH

gfe DBMS & Rt Thar & T e &
HF key g ar Kol ThAr & JAh key Hr
S8 YR gafichel feham STTem &

a) WISH key

b) X key

¢) 3FHIGAN key

d) 9rafA® key

=geTad 3fckeh AR AiEAeRT a1 read=t
fagerfadt a urca wa & fAv dew w&HaA
T fA2UT ¥ T gishar i & ®
# gaffepct foar mm g

a) HTATCHHIOT

b) 3eETa

¢) faamAwIoT

d) v

gfe Gaer Thrar R {Awar fher
3FAIGAR  key T HGET g al 38 YR T
faRIe3t ot Fefierey fRram e &

a) XA 0T

b) 3FHIGAR faAar

c) IR-vAE faRIvar

d) 9w o7
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Q.83

Q.84

Q.85

Q.86

Q.87

Arelation 1S 10 .....coveeeveeennennnne if
an attribute of a composite key is
dependent on an attribute of other
composite key.

a) 1 NF

b) 2 NF

c) 3 NF

d) 4 NF

Which normal form is considered
adequate for normal relational database
design?

a) INF

b) 2 NF

c) 3NF

d) 4 NF

If there is more than one key for
relation schema in DBMS then each key
in relation schema is classified as

a) Prime Key

b) Super Key

c) Candidate Key

d) Primary Key

The process of analyzing relation
schemas to achieve minimal redundancy
and insertion or update anomalies is
classified as

a) Normalisation

b) Isolation

c) Denormalisation

d) Denomination

If the attribute of relation schema

R is member of some candidate key then
this type of attributes are classified as

a) Atomic Attribute

b) Candidate Attribute

c) Non-Prime Attribute

d) Prime Attribute



Q.88

Q.89

Q.90

Q.91

Q.92

Q.93

Tl ReIeTer 3R #, folere JHTaRer=T
RerersT &r oSt gt & o
AN R & & H qafiched fahar Srar g
a) Horizontal Partition

b) Vertical Partition

c¢) Insert Partition

d) Delete Partition

FiSEr drforer & HicH @ gee & fow
SQL F#TE J

a) dTfeleT dcel

b) 3T cao

¢) difeler gere

d) HIcTH geTT

eURS Ae@Iod H o
T Tefdd T &

a) T dfed

b) HictH

c) arferenr

d) ey

feuer Refte derdw o1 B)ar &
a) FoT

b) HeaATSAT T

c) qifhad eT

d) gfcares et

32iel & 9T Sl & DNA molecule @7
_ HEI ST g

a) a-3IuAT

b) b-3ITAT

c) c-3ITAT

d) z-3TAT

siRNAs basedld @FT %
a) 70 TeTdr

b) 100-200 TsCT

¢) 19-22 Tedr

d) 1000 & 31 nt
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Q.88

Q.89

Q.90

Q.91

Q.92

Q.93

In unary relational operations, the
SELECT operation is partition of

relation usually classified as
a) Horizontal Partition

b) Vertical Partition

c) Insert Partition

d) Delete Partition

SQL command to delete a column
from an existing table:

a) Alter table

b) Drop table

c) Delete table

d) Delete column

Tuple in relational algebra refers to:

a) Row
b) Column
c) Table
d) Relation

Triple repeat sequence disease
occurs in

a) Cancer

b) Alzheimer disease

c) Parkinson disease

d) Huntington disease

DNA molecule for a gene without
the introns is called

a) a-DNA

b) b-DNA

c) c-DNA

d) z-DNA

siRNAs are

a) 70 nt

b) 100-200 nt
c) 19-22 nt

d) Over 1000 nt

base long



Q.94

Q.95

Q.96

Q.97

Q.98

$HaT RSB & 3cUfcd TTT T WR &
e HEN H FATAROT Sfcdideh TA Teolled
& fow el ST gl

a) YdidHel

b) suUsfEd

c)ﬁ?ﬂ—%@lﬂ'

d) 9ER

Ifg 3T ATAT T FATRTAT IO

A &, dr 39 greer ik wsfae v aAmEr
ursfAT Fr AT &

a) 31

b) & ST

c) O HA

d) & gt g

"EIdT JaffeRuT Y gREeaT & 7

a) @ U & OOl & 3FfAcgFd e

b)  3TeleT-3{eeT JORYAT X AT Ueh & JUIHA
o 8T gt & IRUTHEEET HiE A S @
HETE AT

¢) Ush ARUAT 3R TH WEeT &1 Fae S
TfT 1 Far §

d) It AT & TH g@ J St BT T
T

EI(?FWW H transcribed AIRTAT T D]
T e TR S # Hleg & AR
I[ATE B H Tgel gl AT S &7

a) 3 dlell T e

b) EErAA SEf3IT A@gT

c) 5%y

d) g

& Pl H 3cqRadT T TR ufds &
G & AIY IR HT 3R ST g1 59
YHR & IcqRads] Sl ATH FAT 87

a)  Non-Sense 3caRddT

b) Missense FQII?QI'H

©) hARIFE FgeewT

d)  gAT F=geere
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Q.94

Q.95

Q.96

Q.97

Q.98

Migration of cancerous cells from

the site of origin to other parts of the
body to form secondary tumors is called

a) Migration

b) Diapedesis

c) Metastasis

d) Proliferation

If you performed a laboratory
analysis of DNA, you would find that
the amount of adenine is the
amount of thymine

a) QGreater than

b) Equal to

c) Less than

d) Not related to

The phenomenon of “independent
assortment” refers to:

a) expression at the same stage of development

b) unlinked transmission of genes in
crosses resulting from being located on
different chromsomes, or far apart on the
same chromosome.

c) association of an RNA and a
protein implying related function

d) independent location of genes
from each other in an interphase cell

Which component of transcribed
RNA in eukaryotes is present in the
initial transcript but is removed before
translation occurs?

a) 3’ Poly A tail

b) Ribosome binding site

c) 5’cap

d) Intron

A mutation in a codon leads to the
substitution of one amino acid with
another. What is the name for this type

of mutation? .
a) nonsense mutation

b) missense mutation
c¢) frameshift mutation
d) promoter mutation



Q.99

Q.100

Q.101

Homeobox}l?:i:gm:f

a)ﬁ%%TﬁﬁﬂT%Gﬁ?ﬁﬂﬁﬁfag%

b) MHRACH H 91T AT § oifchet
IHECH A ARl

c) Sfaru] FAwTup3f & UehrHiuT Felih
T H Ugdlel T I

d) TYSEd dedl & fow wheor
arzet Frufafaftes avxa &

HATSCIhifegdd 30T fAHhEder 3eqded
& foU wReHS &

a) I§ hadl HAfgel ATARAT & AETH &
faraa & Fer § 3R 38 e § Ol
giar § foad gyl & 93 e ¥ S0
ST H@hd ¢

b) 38 UeH U H STo AT §

c)?l‘s’%?*ﬁaﬂﬂgrw’fﬁmgm
3R 3 FAHART H G IrT I=AT

d) Tg AfHS H ST H Jorar | 3
- R Afaa gar &

el A TAAAT § F3 Telled T T

¥ T AT G A 3TT 3gfed IR

T g Faife:

a) TTeTecdh AT

b) 37 &1 H gexiosed HI dgak fhead
STet Ak Alsg o

c) Tellel & ATY Tiorddl &l 3T &G H
EIESE

d) 37 Aafdse ST W T 3Ta 3caRads &I

Q102 T3IeT Sl &l AAT qaol & 3ol fohar

ST § 3%
a) 3rdfeneq
b) TRaATIT

c)m
d) grATTH

FET ST &
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Q.99

Q.100

Homeobox sequences
a) are present in the genome of many

animal species

b) are found in prokaryotes but not in
eukaryotes

c¢) were identified as the integration
sites for bacterial viruses

d) represent integration sites for
transposable elements

Mitochondrial DNA is
advantageous for evolutionary
studies because:

a) it is inherited only through the
female parent and thus evolves
in a way that allows trees of
relationship to be easily constructed

b) it is inserted into the X
chromosome

c) it first appeared in humans and is
not found in other animals

d) it evolves more slowly than the
genes in the nucleus

Q.101 The allele associated with sickle

cell anaemia apparently reached a high
frequency in some human populations
due to:
a) random mating
b) superior fitness of heterozygotes
in areas where malaria was present
c) migration of individuals with the
allele into other populations
d) a high mutation rate at that
specific gene

Q.102 Genes that are diverged from the

common ancestor are called

a) Orthologs
b) Paralogs

c) Xenologs
d) Homologs



Q.103

Q.104

Q.105

Q106

Q.107

Q.108

St Sl &1 AAeT qaeT & faQivor &
ATETH T 3797 HAT AT § 3o¢
gl SITell &
a)ﬁgﬁﬁ?ﬂ'
b) TReNdT
¢) Sty
N RERAIER;]

frafaf@a & & sl a1 3 vl
ToeifAes T & foav gfaeariad fear &

ohdT &, THAT & T, W I E-AT a7
P W 3R GG & 5

a) ?»n'sﬁ!?r

b) Te[CTHTSS

¢) THURfeH tfas

d) erarasr

afaf@a & ¥ 39 a1 FwH Qe
faeeor & foT wod sugeEd &

a) Udh YHTRT

b) HIEeT

c)?a'ul'c,"-lTvlu'l'c,"

d) ForEca-W
fArafaf@d & @ =i @ daw ey
FHEGT T G IS FAAAT § Il
AT

a) Tsh YHTRT

b) HIEST

c)tﬁW}ﬂé’-ﬁTﬁE

d) sfe tdre

3eIshH T TFA HY ST AA-[GH]-["LHI]-X-K
WER TFAYRMT aRT Il SETaT Sea|

a) AGILK

b) AHILK

¢) AHVVK
d) AGKVK

APRE 3|IH o Tl N ey [Ahiad
forar o &gt STaT ©

a) fEgadrer

b) diSrEr

c) WA 3HelshA STdeh

d) 91T 3Thd R EIEAT & Teord
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Q.103 Genes that are diverged through

speciation from the common ancestor
are called

a) Orthologs

b) Paralogs
c) Xenologs

d) Cryptologs

Q.104 Which of the following amino

Q.105

Q.106

Q.107

Q.108

acid can be substituted for glutamic acid,
in general, without much impact on the
structure or function of the protein?

a) Lysine

b) Glutamine

c) Aspartic acid

d) Asparagine

Which of the following program
is best suited for repeat analysis?
a) BLAST

b) FASTA

c) Dot-Plot

d) Clustal-W

Which of the following program
will detect remote homologs most
efficiently?

a) BLAST

b) FASTA

c) PSI-BLAST

d) Dot-Plot

Select sequence which will be
detected by “"A-[GH]-[*"LHI]-X-K
regular expression.

a) AGILK

b) AHILK

c) AHVVK

d) AGKVK

Margaret Dayhoft developed the

first protein database called

a) SwissProt

b) PDB

c) Protein sequence databank

d) Atlas of protein sequence and structure



Q109 3TIshH TATACT T twilight &1 T &2

a) STel 9eier 50 9faerd & 318 ggdareT
IS AT &

b) ST&r 9T 50 ufderd & 3ifes
HATIAT A3 R g

¢) STer 9idieT 30 gfaerd & 318 ggareT
SIEIETE I

d) ST MéT i BEery 30 gfagd & &4 §

Q110 fArafaf@a # & =l a1 Aafaa
JTATFT GGDEF ®UTehadl hl YgdTd hia?
a) G-G-D-E-[GH]
b) G-[* G]-D-E-F
¢) [LGHFGH]-D-E-[FIL]
d) G-[GH]-[DE]-[FL]

Q111 & fIT T T IUTAT ST 3Tl
e ©
a) UAHT e
b) THST e
¢) FYUH TAHeIRNT
d) ofrfasT se=fATE

Q.112 GROMACS & & fov e 3ot §
a) THAST TN
b) QX deT ool
¢) FYUH dM0TeAT

d) IsAR fEamsfeier

Q.113 TFsR &T 3 §
a) Foll MU & T gy Alsel HATT
b) Foll M & T 3ee1d Alser AT
¢) Foll et & forw waAleersT Ager fafeser
d) FoT MU F fov aafas Al AT
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Q.109

Q.110

Q111

Q112

Q.113

What is the twilight zone of

sequence similarity?

a) where protein share more than 50
percent identity

b) where protein share more than 50
percent similarity

c) where proteins share more than 30
percent identity

d) where protein share less than 30
percent similarity

Which of the following regular
expression would identify GGDEF
motif?

a) G-G-D-E-[GH]

b) G-["G]-D-E-F

¢) [LGH]-[GH]-D-E-[FIL]

d) G-[GH]-[DE]-[FL]

__ does not require calculation
of forces

a) MC simulation

b) MD simulation

¢) QM Simulation

d) Langevin Dynamics

GROMACS is an engine to
perform

a) MD Simulation

b) Whole Cell Simulation
c) QM Calculation

d) Primer Designing

AMBER stands for

a) Assisted model building for
energy refinement

b) Advanced model building for
energy refinement

c) Annotation model building for
energy refinement

d) Actual model building for energy
refinement



Q114

Q115

Q116

Q.117

Q.118

Q.119

TUH HA Fol wgeeor fafert @
3GTEROT &

a) m@-%wa?r fafer
b) -7geaT fafer
c) TEH oo ar

d) RFceed fafer

3OS YUTlell & THIAT Foll &1 & Teh
e foig g & o el
ST &

a) TUNT fAHAT

DEGIECREIGE

c)@g?fl"?ﬂg?

d) Toeer AfFgar

U AT & @t # ARSI T Fohall §
a)'\t\g?‘fﬁlg'cf

b) TAGT fF=AT

c)'ﬁﬂﬁﬂ'ﬁm

d) T @AfEer

a)zm‘ra#ramao—%

b) TFIR & YHIT FI FA Y
c)mﬂﬁ%ﬁ'?ﬁ'mﬁ

d) 3rop3f @ gl W W

I BT 3R F98 HITAT T A
aTell SehTs SISO Hied-HT 2

a) Cubic

b) Triclinic

c¢) Tetrahedron

d) Rhombic dodecahedron

YRITA ST GROMACS & 3mafies drer
feafa vere aar &

a) grompp
b) pdb2gmx
c) gmx

d) editconf
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Q114 Example of first order energy
minimization methods is
a) Newton-Raphson Method
b) Quasi-Newton Method
c) Steepest Descent
d) Simplex Method

Q115 The potential energy function of a
molecular system has one deepest
point called as
a) Local Minima
b) Global Minima
c¢) Saddle Point
d) Global Maxima

Q116 Through ........................
system can migrate from one local
minima to another

a) Saddle Point

b) Local Minima

c) Global Minima

d) Hessian Minima

Q.117 Periodic boundary condition is
applied to.........
a) Minimize energy
b) Minimise edge effects
c) Calculate topology
d) Keep the molecules at a distance

Q.118 Which one is the smallest and
most regular space-filling unit cell?
a) Cubic
b) Triclinic
c) Tetrahedron
d) Rhombic dodecahedron

Q.119 The program which provide
periodic boundary condition in
GROMACS
a) grompp
b) pdb2gmx
c) gmx
d) editconf



Q120 TR Tdg A SieT HISel FI 3ETEIV] Q.120 Example of four point charge

g water model is
a) SPC a) spc
b) TIP3P b) TIP3P
¢) TIP4P . c) TIP4P
d) $TH 8 FIT 7T d) None of these
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SPACE FOR ROUGH WORK



